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BIEIE, JUBHEX

HE =
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BnS M3
MEHE T 2 25
Hig T OEE mm 500 500
FEXR KBS mm 1070x 122 x40 1070x122x45
BIEEE mm 465 465
e mm 1500 1500
WEET/ Ja E kg 4400/800 5400/ 900
=H kg 1000/2200 900/ 2950
B (ERXE) I mm 7x12-12PR 7x12-12PR
B mm 18x7-8-14PR 18x7-8-14PR
i mm 960/ 950 960/ 950
e mm +100/-100 +100/-100
PIREREE mm 210 210
BRI mm 1020 1020
FS|ESE mm 560 560
IR mm 890 890
I IZEE AR mm 125 125
HhEE OB Hh 8] R mm 125 125
HE¥E mm 2080 2100
HARRBERE 1200 B5 55 XURE. mm 3810 3830
800 B UM E mm 3940 3960
e DR EE R DR Y R NEE B mm 0 0
RIS W B 7% km/h 120/125 120/125
I mm/s 240/ 450 240/ 450
N mm/s 440/ 440 440/ 440
5|07 HE/ B FUE (60 535H) N 15/10 15/10
BA(55%9) N 20/15 20/15
Tesige f s/ =8 30434 % 12/15 12/15
BA(553%9) % 15/20 15/20
iR A 8] BT 10 K AL DR s 6/5 6/5
BN kw 2x55 2x55
frsanecul) kw 86 86
Bty V/Ah 48/620 48/620
BHhEE kg 1060 1060
BEI{EHE bar 120 120
TRKE ®wi mm 3445 3470
TELES mm 275 2400
ERTE mm 1150 1150
RABEIK PENVAY IR HABE  mm 3990 3990
BESEEENS) S mm 2085 2085
BERASE mm 160 160
ZRMGEfR/ JE 0 6/12 6/12
EES kg 4130 4300
%S 20120273 20121084
RABEAEK A IES o N ] 5490 5490
e e mm 2060 2060
HEEASE mm 1390 1390
SRS ° 6/6 6/6
HE kg 5350 5450
®"S 20121064 20121066
RIABEEK PEAVA IRERSE  mm 6990 6990
[RESEE B = mm 2610 2610
BHRASE mm 1990 1990
S C = ° 3/6 3/6
EES kg 6550 6650
ot 20121065 20121086




